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488 Asavalveisopened, water fows through : M{/ﬂ’%
the diffuser shown 1t Fig. P4.3% at ad increasing: [ - “
flowrate go that the xfeici}-;zz} alony the centerling. el o
s given by ¥V o= uf = V{1 ~ o701~ /D i
where ug, ¢, and Lare constants. Determing the. i
acceleration s a function of x and 2 If ¥, = . i Voll - oeh)
10 £t/s and L= § fr, what value of ¢ (other than- ;
> = ) Is needed to make the acéeleration zero-
for dny x atf = 1 87 Explain how the acceleration
can beZeroif the flowrate is intréasing with time.

FIGURE P4.3)
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H a,=0 for ary x af f =1 s wemust have
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ce C-fli-e =20  The solvtion {}Wf) of this equation
i Ow Qo ‘?“?fﬁ”

For the above conditions the fﬁa‘@f qz:a&f@mﬁ&ﬁ* (5 >0} is
precisely balanced by The convective decelerqtion {4 %§?§? <),
The flowrate jporeases with fime, but he Floid flows 1o an
area of Jower velveidy.
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